Dopliite uvedené sloveso ve vhodném priabéhovém tvaru pasiva.

a) A new method (currently develop) at this Institute.
b) The green line (now extend) all the way to the airport.
c) The new vehicles (test this month) by local fire services.

Insert the given verb in a suitable passive continuous form.

a) A new method is currently being developed at this Institute.
b) The green line is now being extended all the way to the airport.
c) The new vehicles are being tested this month by local fire services.
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